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@Q" Al rs A B,CandD to each question
gwen The choice which you think-is correct, fi Il that

circle in front of that question with Marker or Pen ink in
the answer-book. Cutting or filling two or more circles will
result in zero mark in that question.

“ The water of crystallization is responsible for the
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(A) Melting points of crystals

(B) Boiling points of crystals

(C) Shapes of crystals

(D) Transition point of crystals

Which one of the following salts makes the water
permanently hard :

(A) NaHCOs3 _ (B) NaCOs

(C) Ca(HCO3), (D) CaSOq

Which vitamin is fat soluble:

(A) C ;RN |

(C)B (D)'B complex e

A reverse reaction is one :

(A) Which proceeds from left to riak

(B) In which reactants, ref 4t o Giosa. .
(C) Which.slows Hoih s

(D‘l Whirn Bngetis 5|auuuny
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Whlch one of the following is not a fractmn of petroleum:

(A) Petrol (B) Alcohol

(C) Diesel ol (D) Kerosene ol
Lactic acid is found in:

(A) Apple (B) Sour milk
(C) Urine (D) Lemor
Wood contains carbon about:

(A) 40% (B) 50%

(C) 60% - (D) 70%

The reduction of alkyl. halides takes place in the
presence of; '

(A) Mg/HCI (B) Cu/HCI

(C) Na/HCl (D) Zn/HCI

Which one of the following disease causes severe
diarrhea and can be fatal.

(A) Typhoid (B) Dysenterv
: (C) Cholera j([‘ ALY U aE

The unit ~f mnlar) M RN

(A) mofei Bymoldm?
R e ain (D) mot' dm"’

~ §P4 vvnich is secondary pollutant:

(A) HzSO4 (B) CO:
(C) CO (D) S0
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